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VCD S.Y.B.A HISTORY III SEMIIl EXAM OCT 2019 100 MARKS 3 HRS

NOTE= (1) All questions are compulsory
(2) All questions carry equal marks.
(3) Figures to the right indicate marks to the sub-questions

1. Answer any two of the following :

(a) Explainthe importance ofinscription and monuments as archaeological
sources.
(b) How has religious text help in reconstructing the history.

(c) Explain Secular literature as a source of history.

2. Answer any two of the following :

(a) Explainsocial life of Indus Vialley with reference to dress and orn aments.

(b) Discuss thetrade and commierce of Indus Valley.
(c) Explainthetown planning of Indus Valley.

3. Answer any two of the following:

(a) Explainthesocial life of Vedic age. ;

(b) Explain prayers and sacrifices offered by Védic Aryans.

(c) Explainthe growth ofagriculture and industryduring the Vedic age.

4. Answer any two of the following :

(a) Explainthe teachings of Mahavir.

(b) Explain four noble truths and eight fold path of Buddhism¢
(c) Explainthe importance of Persian invasion.

5. Write short notes on (Any two)
(7) Alexander — The Great

(b) Decline of Buddhism

(¢) Numismatics

(d) Indus Valley Script
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